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In this lecture, we consider the Z, synchronization problem. We use the free energy trick and the replica
trick to derive the asymptotic expressions for some desired observables.

1 Zs synchronization problem

We first recall the statement of Zy synchronization problem introduced in Lecture 4. The goal of Zy syn-
chronization problem is to estimate the signal 8 € {—1,+1}" from observation

A
Y =2600" + W e RV,
n
where W ~ GOE(n) are noise associated with the observation and A > 0 is a parameter that controls
the signal-to-noise ratio. We assume a Bayesian prior of 6; ~j;q. Unif({£1}) on 8. As we have derived
in Lecture 4, the log-likelihood for a given parameter o € {—1,+1}" of the problem is given by (up to a

constant)
2

; X (0, Y 0o). (1)

A
—n|lY - Zoa’
n

This leads to the Gibbs measure on {—1,1}"
Paa(o) cexp{B(o,Yo)}.

We will consider the performance of the average estimator

O0Y)=(o)pa= Y, o-Psi(o).

oe{—1,+1}"

We have shown that when 8 = oo, 6(Y) is the maximum likelihood estimator, and when 8 = \/2, 8(Y)
reduces to the Bayes estimator.

2 Overview of the Main Results

The goal of this lecture is to initiate the derivation of the following observable in the thermal dynamic limit

m*(ﬁz/\) = nh—>nc;lo %E ;<w(ai79i)>3v\‘| )
s+(6,A) = lim %]E Zw«m—m»ei)] ;
i=1

where 1 : R?> = R is a test function.



2.1 Formalism

Our first result states that

n

> (W(0:,0:))5.

i=1

1
m«(B,A) = lim —E

n—,oo N

=Ec.9 {Es~p(tanh(282. 0428 /376)) [0(,0)]}, (2)

where G ~ N (0,1), 0 ~ Unif({£1}), and & ~ D(28 .0 + 23,/q.G) represents the distribution supported
on {£1} uniquely defined the expectation

E [g] = tanh(28A\u.0 + 26/ G).
Here g, p+ are two real numbers that can be computed as solutions to the following self-consistent equations:

¢ = Eg ¢ [tanh(28An.0 + 28,/3.G)?]
px = Eg g [Otanh(28A 0.0 4+ 261/¢:G)],

Although we will not show in this lecture series, a more general results suggests that for o ~ Py and 6
with 0; "~ Unif({£1})

I _
nlggc - 27/1(01', 0;) = Ec,6 {Es~p(tanh(28ru. 0428, /a:6)) [(F,0)]} .
i—1

The interpretation of this more general result is that the empirical law % ZZLI d(e:,0,) converges to the law
of (¢,6) from equation (2).

Our second result states that

n—o00 M
i=1

s5.(8,\) = lim =) lz ¢(<ai>ﬁ7k,oi)l = Eg ¢ [¢(tanh(26\1.0 + 26/ G), 0)] . (3)

Similarly, we can interpret the result as the convergence of empirical law

1 n
E 25((0'11>13,>\79i) — Law of (mv 9)3
=1

where

0 ~ Unif({£1}), G ~N(0,1), m = tanh(28\u.0 + 25,/¢:G).

2.2 Illustrations of the formalism

In this subsection, we provide several example to illustrate how our formalism from the previous section
could be applied.

Square loss. For the square loss 9(a, ) = (a — 6)?, equation (3) translates to

. 1
Jim —E[|{e)sx = 0]I7 = Eg,g [(tanh(28A.0 +28,/6.G) — 0)°]

Signed square loss. Since 8 € {—1,+1}", a natural loss to consider is ¢ (a, ) = (sign(a) — 0)?. Equation
(3) suggests that

N .
lim ZE||Slgn<0'>B7,\ — 0|3 =FEge [(51gn(tanh(26)\u*9 +28./¢:G)) — 9)2] .

n—oQ



Alignment loss. Another loss to consider is to count how many o;’s are aligned with its ;. This leads
to the loss ¢(a,0) = a - 0. Then equation (3) implies Then

n—o00 N, n—o00 N,

1 & 1
lim —EY 0;(0;)px = lim —E(0,(0)s) =Ec, [0 - sign(tanh(28)\u.0 + 28,/4.G))] = ..
i=1

3 Derivation of the main result

In this section, we will derive the expression for m. (3, A) using the free energy trick and the replica trick.

3.1 Formulation

We first formulate the problem into statistical physics language. The configuration space would be Q =
{=1,+1}" with base measure vy = Uniform measure over )} (Bayesian prior). The Hamiltonian for the
original system is the log likelihood (1). In order to compute the observable of associated with m, (8, )
quantity, we define the perturbed Hamiltonian

n

Hy (o) = —{o,Wa) — \a,0)* - hzw(ai,ei).

i=1

The free energy of the system is

Zn(ﬁ,)\,h):/Qexp{—BHA,h(a')}l/o(da').

Finally, we can define the free energy density and compute the limiting observable by taking derivative w.r.t.
the perturbation strength h.

. 1

1
= Bahgp(67 Aa h) h=0.

Given the aforementioned setup, the following claims gives an implicit expression for the free energy density

©(B, A, h).

Claim 1. For some values of (3,\)!, the free energy density for Zs synchronization problem can be written
as

ma (B, \)

P(B, A h) = ext ulp, g; 5,2, h)
where
ulpe, ¢ B, A h) = —=BAp? + B%(1 = q)* + Eg6 {log [Eo exp {26Au0t + 28\/qGo + Shi(o,0)}]} .
The expectation is taken over the randomness (G,0,0) ~ N(0,1)x Unif ({£1})x Unif ({£1}).

We will derive the claim above using the replica trick from the last lecture to compute the free energy
integral:

Lemma 2 (Replica Trick). For a given random variable Z

1
E[log Z] = lim - log E[Z").

IThis is a result of our heuristic approach. The precise region of (8, \) where the claim holds is beyond the scope of this
lecture.



This suggests us to divide the derivation into three parts
1
(a). S(k,B,\,h) = ILm ElogE (Zn (B, A, h)k] . (The n limit.)
1
). (B, h)=1lim —S(k,8,\,h), (Thek limit.)
k—0 k
1
(¢). m«(B,\) = Bﬁhg@(ﬁ,)\,h)‘} . (The h derivative.)
=
In the following subsections, we will go through (a) — (c).

3.2 The n — oo limit

We will start by computing the free energy integral

k
E[Za(B, A, h)F] = E [ / exp(—ﬁHA,hw)uo(do))}

:EVQ exp( ZHM )ﬁw)(da‘l)]

k <0 O_a> k n
:/Qm exp {6 (Z)\’n‘i’hZZd)(g?’ei))}E

a=1 a=11i=1

k k
exp (ﬂ Z(U“, WU“>>] H vo(do®)

a=1 a=1

Moment Generating Function

Here the first equation follows by writing out the exponent k as the integral over k replicas, and the second
line follows from the definition of Hy 5. Since W ~ GOE(n), the expectation over W can be computed using
the formula for the moment generating function of Gaussian random variable. This gives

k k
exp ( Z (o, Wo?) ) = exp | B2 Z (0, 0%)?%/n
a=1 a,b=1

Plug this into E[Z,,(8, A, h)¥], we get

AR R M0 | GO ) WEC A sE 2D o ol

= a,b=1 a=1i=1

Same as the last lecture, we introduce the delta identity function to factor out the first two terms in the
exponential from the integral

k k k k
1= [ 1L daon T] da T[5(6.0) = naua) [ 600", ") = ).
a=1 a=1 a,b=1

a,b=1

Then

k k
E[Zn(8, A )] = exp | BAn Y aba +5n D day | x Ent,

a=1 a,b=1

where
k k n

ene= [ TLtdo) T[800.0%) — nave) TT (e ") ~ naa)exp [ﬁhZZwag,e»}’
& a=1 a=1 a,b=1 a—=1i—=1



The entropy term Ent can be computed using the delta identity formula and the saddle point approximation,
which gives

o1
Jim_~logEnt = N R<k+1>x<k+1><Q A)/2 +1ogE, |exp ;0 Aab +ﬂhqu (0" ||,
where o = (0%, 01,...,0%) e Unif{—1,1}. By another use of saddle point approximation, we get

1
S(k,B,\,h) = lim —logEZ,(B8,\, h)* =supinf U(Q, A),
n—oo n, Q A

where

BAZqu + B Z @+ > +logE, |exp Z )\ab

a,b=1 a,b=0

—&—thwo o?

3.3 Heuristic solution to the minimax problem

The distinction between sup v.s. inf isn’t crucial in this setting. Ultimately we want to use the first order
stationary condition to figure out the @ and A that achieves the supremum/infimum. On a high level, we
want to solve the stationary equation

6QU(Q,A) =0, oAU(Q,A)=0.
Since U(Q, A) is quadratic in Q, we can start by

040, U(Q, A) =0 = Nou = —26Aqoa, 1 <a <k,
04, U(Q,A) =0 = Ay = —48%q, 1<a #b<k.

Plug this back into the formula for U = U(Q) and with a slight abuse of notation, we get

k k k k k
UQ) = —BAY_ q3.—B D 4oy HogEo |exp | 280D qoa0*0® +28% D qupoc’ + B0y ¥(0”,0°)

a=1 a,b=1 a=1 a,b=1 a=1

Then, the S quantity is extrema of U : S(k, 8, A, h) = extoU(Q). However, after we plug in the stationary
condition to get rid of Aqp, the equation dgU(Q) = 0 becomes highly non-linear and no closed form solution
can be found. The core difficulty here is the high-dimension nature of the stationary equation. We can
reduce the high dimensional problem to a low dimensional one by exploiting the symmetry of the objective
function. More concretely,

U(MQI") = U(Q), where IT = [(1) 1(_)[} , II € R*** a permutation matrix.

This leads to the replica symmetric ansatz

1w oo p
w1 q
Q=|. 1, q €R.
: 1
roq 1



In another word, we guess that the extrema is achieved at @ that satisfies the aforementioned functional
form. In this ansatz, the diagonal entries are all 1 because for 0% € Q = {—1,+1}", (6%, 0°)/n = 1. The
ansatz gives a simplified expression

Uk, p,q) = — BAep® — 82 (k+ k(k — 1)¢*) + 28%(1 — )k
k k k
+ logE, |exp 25)\MZJ“JO +23%¢ Z oo’ + BhZz/J(J“,JO) ,
a=1 a,b=1 a=1

which makes computing the £ — 0 limit tractable.

3.4 The £ — 0 limit

The goal of this section is to compute

o1
90(6,)\3 h) = %E}% %S(kvﬂvA,h)

for S(k, B, A\, h) = extQU(Q) = ext, (U(k, 1, q). Here we assume the lim and ext operation can be exchanged,
and we get

o(B, A\, h) = ext lim %U(l@ﬂ,q) = ext u(y, q; B, A\, h).
JIRY

H,q k—0

To compute u(u, ¢; 3, A\, k), we want to further simplify U (k, u, q) first. We can remove the cross term (o%, o®)
in U(k, p1, q) using the following expression derived from Gaussian moment generating function.

Lemma 3 (Gaussian Moment Generating Function). For G ~ N(0,1),
E {eAG ZZ:IU"} = exp )\—2 i o%a?
2 a,b=1
Direct application of the above lemma gives

Uk, p,q) = —BAkp® — 82 (k + k(k — 1)¢°) +268°(1 — q)k

k k k
exp {25)\;120“00 + 2B\/§GZU‘1 + ﬂhzw(aa, JO)}]

a=1 a=1 a=1

+logEg o

= —BAkp? — B2 (k+ k(k — 1)¢%) +28°(1 — q)k + logEg o [(E,, exp {28 ol + 28,/4Go + Bhap(a,0)})* |,

where
G~ N(0,1),0 ~ Unif({—1,1}),0 ~ Unif({—1,1}).

To deal with the term involving expectation to the k-th moment, we can use the inverse replica trick:

Lemma 4 (Inverse Replica Trick). For a random variable T,

.1 k _
lll_r&)ElogE T =ElogT.

Setting T' = E,, exp {26)\;109 +28,/qGo + Bhy(o, 9)} in the above lemma, we get

1
u(p, q; 6, A, h) = lim EU(kau,q)

=— BA\? — B2(1 — ¢°) + 28%(1 — q) + Eg g {log [E, exp {28 \uc + 28,/qGo + Bhib(o,0)}]}
= — 6)\,u2 + 62(1 — q)2 + +Eq ¢ {log [E, exp {28 00 + 26/qGo + Bhiy(o,0)}]}.

This concludes the derivation of Claim 1.



3.5 The h derivative
Finally, we need to compute %tho(@ A, h)‘h . for (B, A, h) = ext u(u, ¢; B, A, h). By implicit differentiation
= Hsq

theorem
Lonp(B AN = ol g 6,01
S0P\, = S Oo0pu\l, q; ) )
B " h=0 B o (a=qx,n=p1x,h=0)
where (u«,q.) = argextu(p, ¢; 8, A, h)’ . Direction calculation using the first order stationary condition
1q h=0
gives

e =B |0 tanh (28010 +26v/.G ) |,
0 =Eco [tanh (wmﬁ n 25\/(1*71) 1 .

Plugging in (i, ¢«) gives
B!

m. (B, A) 3

ah@(ﬂ, )‘a h) ‘ he0

E, [exp {2ﬂAp*09 + 25\/q*G0} U(o, 9)]
E, [exp {ZBAM*UG + Zﬁ\/q*Ga}]
=Eco [Esnp [¥(7,0)]],

=Egpe

where & is a random variable supported on {—1,1} uniquely defined by the condition
E[g] = tanh(28Ap.0 + 281/¢:G).

This completes the derivation of the formalism (2) in 2.1.
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